
 

8460 

SUZUKI SV1000 
2003–2007 

REVERSE SHIFTING
Part Nr. 6630 

 

M6 x 12 DIN7991 

M8 x 60 DIN6921 
+ 807 

M8 x 50 DIN6921 
+ 807 

M6 x 25 DIN7991 

M6 x 35 DIN7380 

+ 817 + 123121206 
+ M6 DIN985 

 

 

M6 x 16 DIN7380 

+ 816L 
 

 

between 8330 

and 872 

123221208 

818215 BRAKE HOSE    45°/ 400mm / 45° 

M8 x 20 DIN7991 

M8 x 25 DIN7991 

 MAIN PLATE  661 R+L 

 

 

872 

810R 

8330 

873 

813RM 

813LB 

819M6R 


